@ 9x—4y =12

@ -x+4y=6

@ 3x-2y=4

® x-y=2

@ x+2y=5



AP 20 -3y 2= 0 9 A7k (k.2) A T, k 9 3L Fofeder,



of a7k (5.1) & o, k o] gL& 73}



=y A 4x+5y=2---Q
3x-4y=6---©

O Ox3-Ox4 @ Ox4-Ox3
@ Ox3+Ox4 @ Ox4+0Ox3
® Ox3+0Ox3



g 3 549 AL BE 9 el
@ 0<2 © x-3
© x-1<5 ® 5x-4=
® (Ba-1)+2<5

@ 174 @ 27§ ® 378 @ 470 ® 5




@ 3x—x+2 ® 2x>5

D 9>-2

® a-5=4

@ 4x+1=5



o|J
ey
)
™
IS

ol
RS

—_—

el

—

o)

I
No

—

Lo
il

oln

L=x+2>-1

=

-2x<-x-3
—x—-2>2

L.

2. x-4<-5

]:-

g 2x-1>x-3

@ 1, ® 1, = @ v, © ® L, =

O 1, Lv



o|J

ol
I

ofig

)

© x-3>3

@ 3x<9

® -2x>6

© -2x+3>-3

CRONG) ® Q6

® o0

® O, 6.6

@ (A, ©, ©






= ax—|-b<()...®
10. thge AgRsA

4 of 818 224 Sl Lehd
cx+d>0---©
Aolth. ol 1, QRS A o] s
@@<—
32310 1 9 35
D x<-1 @ x<2 ® -1<x<?2



11.

b

yl\

Nej
I
~
<
I
S
©

S
©

6, b=4



7t x=2,y=5¢%

@ a=2b=-1

@ a=1b=3



Q%Plﬂ{
el 3 vfjeta &

Hia=

x—dy=1---0

2x+3y=a-5---

F o, a O] =

=
=

©

T-5tof 2t

o

—

=5k x 9 gol

y 9



W a+ b O F2?

D -1 @ 0

o g 71



15. 2 Akele] 2ol gol 691 % Aele] Aasst ek, A A<
ST A Aol SeApe] 2a)Q) ), o] 52 Fobw?

@D 15 @ 24 ® 33 @ 492 ® 51



16.

A

o=k

1T

1=}
?_]T_'T

v

o] 5 Q9] 7ML =

=

o

C
= -

& 2 A9 7}

A

=

=5

LA ol A g o] 3 Qe
o 4 Q0] 74T} Zrba g, W] o

9

s
L
o

)

o 4 Q18] 7}AL 16000 Yo,

& Fotofet



1
sl
AR P
2

e
Al

o 1}
o o
2 o -
,%@gﬁﬁqgul;
Q%4@ﬂ4
sholet e
| e 54
5 4]



> w

IA



19.

A 3x—2<bx+8<dx+179 H7ta<x<b D o, ab

@D a=-5b="7 @ a=-5b=9 ® a=-5b=11
@ a=50b=9 ® a=5b=11



20. x W7t -1, 0, 1, 29 1, S 5

A3

9

‘FIF

7t gl e
D 2x< -4

@ x+3<4
@ —x+6>7

@ 3x-2<1
B 2x—-3> -1



21. A, B Aol 2ol 42 ohel 6 U Aot AL A7t 92 AT
el & B 7} 14 22 Astel Bubgleh A 7k EAM 2 A

Hdo] A A7

D 9 @ 10 BQ 12d @ 15 « G 20 Y



22,

8- A o] A

gow g

T-5tofzt,

g
= -

t ‘0’17‘]'0“% 1“&0] %1(—71]

ol & o 7e] 634

=

oroH 5o

o

foka

O

PA I B

=
=2



